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OdYs of2tZ2XH IHE ALY
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= 75,000
Al 75,000
wo2s OF2F B&XxY JjA 30,000 0 30,000
o= 15,000
Al 15,000
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o 15,000
Al 15,000
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Al 15,000
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OHAFANRESE 7Y 688,0008 ~ 12& 8,256
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outersE2 18,0002 * 4% 122 864
O&FED| X2 60,0008 * 12& 720
(OF=Fs]| 8,000& * 10 = 554 4,400
202 044l 5,200 5,500 A 300
01 2L Y| 5,200 5,500 A 300
OJIgges8 0yl 40,000 ~ 10 = 133l 5,200
203 SR F & 3,600 3,600 0
04 EASHEYRFAH| 3,600 3,600 0
OBNMSEIE2FA 300,000 = 12& 3,600
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Al 17,189,165 16,494,035 695, 130
= 4,882,171
g 727,375
= 3,073,083
Al 8,506,536
. MEf Z2ENME 4 17,041,135 16,349,082 692,053
= 4,848,171
g 727,375
& 3,057,783
Al 8,407,806
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= 733,918
g 627,375
& 1,218,562
Al 2,054,346
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= 8,025
= 2,100
Al 4,875
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= 8,025
= 2,100
Al 4,875
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= 28,059
Al 65,496
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AEYME - BHIS A (B9 ®R)
CRA - FH - B(BH) - MEMY - BYS 0l &t o il Bl RE2
= 2,515
< 685
Al 1,599
202 O4dl 2,308 9,196 A6,888
= 1,154
< 346
Al 808
01 = LH 4 1l 2,308 9,196 N6,888
OFR=R=F¢ =3\ N 2,308,000& * 14 2,308
= 1,154
< 346
Al 808
401 AIEHI L 2 CHYI 364,980 92,400 272,580
= 225,633
< 41,804
Al 97,543
01 A& HI 326,980 82,400 244,580
Osteddol = A 326,980,000& * 14 326,980
=2 202,141
< 37,452
Al 87,387
02 Zeltl 33,000 5,000 28,000
Ot ol S & Hl 33,000,000 = 14 33,000
= 20,401
< 3,779
Al 8,820
03 A2 2 THHI 5,000 5,000 0
O4tedoll S & Al 5,000,000& = 14 5,000
= 3,091
< 573
Al 1,336
ZESRH0ISHS =4 29 84,040 82,944 1,096
= 42,020
< 12,606
Al 29,414
101 14 Hl 84,040 82,944 1,096
= 42,020
< 12,606
Al 29,414
04 JIZHHZ2XREE S 84,040 82,944 1,096
O0lseHs=x=4 84,040,000& * 14 84,040
= 42,020
< 12,606
Al 29,414
MEH =202 XA 10,000 7,500 2,500
= 5,000
< 1,500
Al 3,500
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Al 3,500
S 4+=3d| 10,000 10,000 0
< 3,000
Al 7,000
401 AlEHIZL 2 0HY| 10,000 10,000 0
& 3,000
Al 7,000
01 Al& B 10,000 10,000 0
OS43| 10,000,000& = 1A 10,000
& 3,000
Al 7,000
CAFH QEAURE B 120,560 119,203 1,357
101 e1218| 36,560 35,203 1,357
04 J|12ZtHIZ22NEES 36,560 35,203 1,357
OZAN=Z HA 185,580& * 3H * 30 16,703
Osgos 70,240 x 38 x 90 18,965
OIlnssEEE 8292 35,668,000 « 2.5% 892
201 LBt 4,000 4,000 0
01 AP 22| H| 4,000 4,000 0
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4,000,000& = 1A 4,000
401 Al HIZL 2 0HY| 80,000 80,000 0
01 Al&H| 79,000 79,000 0
OEANTH RFALISE BEANY
79,000,000 * 14! 79,000
03 AlE 201 Y| 1,000 1,000 0
OEANTH RALISE BEANY
1,000,000 = 14! 1,000
MNEMEISE 2H FH| 7,600 7,600 0
201 Yete | 3,600 3,600 0
01 AL 22l H| 3,600 3,600 0
O 3,600,000& = 1Al 3,600
202 01t 4,000 4,000 0
01 2LHO! | 4,000 4,000 0
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07 NIXSHH2AESSZ2 6,653 6,653 0
Odr28 5ol s L HIF AIHEE=2
6,653,000& = 1A 6,653
A0 X 1,411,479 1,609, 656 N 198,177
101 e1214| 1,062,029 1,132,578 NT70,549
04 J|12tHIZ22NEES 1,062,029 1,132,578 ANT70,549
OMNERSLAIH 2 2H|
70,2403 « 90¥ = 150¢ 948,240
OE&8= 948,240,000 * 12% 113,789
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SHM A AH| (A ) 148,030 144,953 3,077
= 34,000
& 15,300
Al 98,730
oA 2HH| 108,560 105,653 2,907
= 34,000
= 15,300
Al 59,260
A THH L Ktel SO (MEXSHBESIH) 222 0l 108,560 105,653 2,907
21|
= 34,000
& 15,300
Al 59,260
101 21 214| 108,560 105,653 2,907
= 34,000
& 15,300
Al 59,260
03 RINHAZ22XNHE %= 108,560 105,653 2,907
ONZHEZ &S 108,560
ollga 33,236,000& * 2H 66,472
= 26,589
& 11,965
Al 27,918
SES LR
19,700& = 2 x 302 * 100H& 11,820
= 4,728
& 2,128
Al 4,964
oHE = 6,708,000& = 1A 6,708
= 2,683
o= 1,207
Al 2,818
oHWAESIIH|I(AIHIZ=DE) 4,575,0008 * 120% 5,490
o WS 2 XH|(AlHIZ=II) 280,000& * 12& 3,360
o Mo I AIH| (AlHIZ=DI) 260,000 = 128 3,120
o QAL (AIHIZ=DI)
140,000& * 2% = 128 3,360
o IIE LY (AlIBI=DI) 40,000 * 12H 480
o™ 2L G (AlHI=I})
3,950,000 * 50% * 23| 3,950
ocHI4Y, SSEIISY(AIHIZIH)
211,080 = 18 3,800
Jl2 &l 39,470 39,300 170
Jl2&Hl 39,470 39,300 170
201 2Et24Hy| 24,250 25,620 AN 1,370
01 AP 22| d| 24,250 25,620 N 1,370




AEHE NV EEE SN 4D
Ha: ¥HSAAH (MY D)
& 123l (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OHIANRES & 424 2SS
550,000& = 12& 6,600
OL72 EM7LH 20,000& = 5& = 12& 1,200
O4LAa2 =&t 1,857,500& * 43| 7,430
O&tgl Iy 3yl 380,000& * 13 380
OJlege+=8 S4lHl 8,000& * 6% = 180¢ 8,640
202 04l 9,120 10,080 A 960
01 = LH 4 1 9,120 10,080 A 960
OJlege+=8 ol 95,000& = 16YH =« 63l 9,120
203 R =&t 3,600 3,600 0
04 FN2ELRZ=TH| 3,600 3,600 0
ORM2g g2 300,000& * 123 3,600
405 TtHakF S| 2,500 0 2,500
01 It ESFH SHI 2,500 0 2,500
o=gJ #¢ 2,500,000& = 1CH 2,500




